Division par 10 (C)

Trouvez chaque quotient.

58 +-10 = 36 =10 =
83 +-10= 9=10=
3+10= 86 +~10 =
75 +-10 = 44 =~ 10 =
22 +10= 54 - 10 =
25+-10= 58 10 =
88 -10= 73 =10 =
20+10 = 34 +-10 =
14 - 10 = 99 - 10 =
71+ 10 = 75 +10 =
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Division par 10 (C) Solutions

58 +10=5,8

83 +10=28,3

3+10=0,3

75+10=7,5

22+10=2,2

25+10=2,5

88 +~10=28,8

20+-10=2

14+-10=1,4

71+10=7,1

Trouvez chaque quotient.

36 +-10=3,6

9+10=09

86 +10=28,6

44 +-10=44

54 +-10=5,4

58 +-10=5,8

73+10=17,3

34+10=3,4

99 +-10=99

75+10=7,5
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